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1927

1947

1956

1970

10-speed bike

mountain bike

scooter

segway

Nextel

Sprint

US Wireless

Verizon

Wedding Years First Names Cell Phones Conveyances

1927

1947

1956

1970

1. The person married in 1927 uses a segway to get to work.

2. The person with the Sprint cell phone got married after the person with the Verizon cell phone.

3. The commuter who rides a mountain bike doesn't have a cell phone with Nextel.

4. The commuter who rides a 10-speed bike is not Kaelyn.

5. The commuter who rides a 10-speed bike has always used Sprint.

6. Of the person with the Sprint cell phone and Kaelyn, one uses a 10-speed bike to get to work and the other got
married in 1970.

7. The person married in 1970 has always used Nextel.

8. Sage got married before the person with the US Wireless cell phone.

9. Kristen did not marry in 1947 and doesn't have a cell phone with US Wireless.

10. Either the person with the Sprint cell phone or the person with the US Wireless cell phone is Kristen.
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